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aVIINOURBF

IEGL | K4 g 50m 50m &t 10 X
T/MIHERE R 339 335 674 30 11
2| EHERR Z=RE 311 308 619 17 2
3| T ARIF I Z=RE 305 312 617 20
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IEHL |4 g3 70m 70m &it 10 X
1|fERER REHKERE 327 325 652 22 6
2| KBE—t ZR¥FHE 307 290 597 12 3
| EHBK =B 290 276 566 5 1
BRI E KA 271 287 558 10 1
5|HIRE ZEREE 269 289 558 8 2
6|ERIRA X ZEREE 286 267 553 7 2
UREE SN =R 252 293 545 8 2
8| FRINHEE ZR¥FHE 260 261 521 6 4
9| & FF 48T ZEREE 260 252 512 4 1
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IEGL | K4 g 50m 50m &t 10 X
HENIICES R 323 335 658 28 12
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IEGL | K4 g 30m 30m = 10 X
1|[EHEEA =R 211 224 435 5 1
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IEGL | K4 g 50m 50m &t 10 X
1|FEHEE T R 342 340 682 39 14
2|t EBE R KF 339 342 681 35 10
3| BRE=E A= 335 337 672 35 12
4lLE & A= 336 328 664 30 10
58 )INE— EER 328 323 651 17 9
6|FEIBA & KB AT 326 316 642 23 8
7| ZHEHEFR KB AT 321 317 638 23 19
8| EIR HRmXE 320 309 629 18 6
9|;FKIFA] KB AT 316 313 629 16 8
10| ¥AZ Bl B KB AT 314 304 618 18 11
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IEGL | K4 g 70m 70m = 10
T[ILARFEH T RE 330 325 655 27 8
2|2 EH0tE TR RE 321 312 633 20 4
3|EX%18A T RE 319 312 631 23 6
4|EBHRD R&E KR 313 312 625 10 1
51T R RE KR 312 307 619 13 6
6|FNHEEX TR RE 312 305 617 15 5
1|EEFEE EESK 305 308 613 15 4
8| LUK KR AT 310 300 610 15 4
I EHFE T RE 311 295 606 13 3
10|BHNEE ik P N= 311 286 597 12 1
11|EHE B KR LA 288 288 576 8 3
12213 B ABRAF 272 302 574 9 3
13| B SR =F8 286 287 573 12 5
14| IS XX BWEKZFE 286 277 563 6 1
15| ZE— KR LA 289 268 557 5 2
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IEHL (K4 Bil= 50m 50m a5t 10
EF1OF |EER 320 322 642 21 4
1fBHRTF KB AT 312 313 625 11 5
Yh—TH—To&F
IEHL (K4 Bil= 70m 70m a5t 10
1[EP{ZxR R&fLKE 299 306 605 15 4




